20214 NoO34#;ETH60m70mR X 2 3§

SAMOD R

(&% e E Rl HE]

NERRDER =i ERBEART7T—F)—15 T NPOEAN @ENE7—F)—1EE  2021/10/24B84#
I8 BEHT—Fr)—He
«RC6 0 L&ZF»
% ai EDERTIR B 60m®[60me] &5t 10] X S
1 [IUA fim FEE |$Ryrahry—FiU-He 230 256 486 5 2
«RC6 08BF»
% ai EBERTIR B 60m®[60me] &5t [ 10] X S
1 (WK EE FEE |mEm7-FIV-He 297 275 572 | 12 3
2 |[REE #hiE FEE Rrahy7—FI-e 284 287 5711 13 5
«RCEF»
& 8 ERERTIE B 70m@]70me] @&t [10] X S
1 &8 faEx* BRE |IU-N7HhTE— 317 318 63512110
2 [kt =R BERE  |AAKBAT (HB) 317| 299| 616]20]| 6
3 (RFE BtF BRE PIRIIXR7-FI)-He 301 302 603 | 16 5
4 | KHE #EF BRE | TU-hPHhTE— 293 301 594 | 12 1
5 |k thEk ¥iE AT 284 306] s90|13] 1
6 |feH W= FE BEXFE 281 298 579 | 16 3
7[R0 mme =HE  |SHET-FIU-HE 287 | 2901| s78] 8] 2
8 |[hE BHAF BRE |IU-MPH7TE— 294 283 577 | 11 1
9 |x8 W= ¥iE BAGBAT 280 | 201| s71| 2| 1
10| &4t fE5 WE) B R ESEER 281 | 283] sea|11]| 4
11|ET #&75 FiE HAKERE 281 275 556 | 10 1
12L& Bt |3E AAGRE AT 280 | 273| 553 6| 1
13|=)H Foh FiE FIIIXKE 270 267 537 7 2
14| /LK 48 FE HAKBKRE 268 267 535 6 5
15|m@% smeE ¥iE BAGBAY 250 | 281 s31]12] 2
16| % FE HAKE 258 262 520 6 2
17| R +E B1E FiE EBIERIKFE 235 277 512 7 1110387
18|k BF wHE)|18 [EER 253 | 259| s12| 5| 2|i0&2%:s
19| =8 X RREP | RS 225 260 485 5 2
20|BH =t FE HAKBEKE 239 156 395 3 1
«RCBF» (1/2)
2 B EBERTIR B 70m@]70me] @&t [10] X S
1| XKE & HR)NE (WY H= 336 340 676134 | 11
2 1Rk B& BERE  |[IU-~PhTE- 331 319 650 26| 12
3 [ LEF f=AE* FE YHKFE 321 328 649 | 21 6
4 | Kp2 — ZRE |m=RE7—FI1)—ES 324 | 312| 6636|1710
5 @ it |FEE |TERESKES 312 315| 627]14] 3
AEGEE: )2 | 2R 309 | 315| 62417 ]| 7|i0&a%:17
7 [mB gk |3E BAGRB AT 314 | 310| 624|15| 7|1i0&%: 15 x%%:7
8 |#1m B BE)|E [BEERASR 309 | 315| 624 (15| 4 |1082%:15,X%:4
9 |0 wix |=WE |[SmET-Fi-He 313| 302| 615|15| 2|i0&2%:15
10|E % #HE)NNE | )\XT7—FIV-9357 312 303 615 | 14 2 |10&£%8:14
11|43 X3 BRE |[TU-N7hT=E— 308 306 614 | 16 2 |10&£%#8:16
12|50 B FiE EBIERIKF 302 312 614 7 2 |10#8:7
13|2FH BB RRE |TU-NHhT=— 302 311 613 (12 3
14|71 3H— FiE BRRAF 303 302 605 | 15 3
15|421L0 FRK #HE)NNE |)\X7—FV-9357 308 292 600 | 10 4
16|20 ZA8 FiE BRAXE 301 298 599 | 10 5
17|11 Btk BEE |[XKE7-FI1)-Ha 301 287 588 | 12 3
18|14+ BEE FiE Y HKFE 287 296 583 1| 12 3
19|7A/K ESFH FE BIERAKF 287 285 572 9 5 |10&E#:9
20|12 F I8R FiE Y HKFE 282 290 572 6 3 |10%8:6
21 (#k =4 FE BIERAKF 289 281 570 | 12 4
2|=x MF )18 RS 277 | 292| s69| 8| 1
23|% B: )8 [EEK 281 | 287| s68| 9 3
24 |5th[R B #HE)NE ()\T7—F1I)-957 286 281 567 9 4
25|50 BiE i@ BEERAT 287 | 279] se6| 9| 2




20214 NoO34&ETH60m70mR X2 EEHSAMDER (xR HEE RLiE]
NERRDER =i ERBEART7T—F)—15 T NPOEA #ENEBE7—F—E  2021/10/24F4&
& #EEHh7—F)—HE

(2/2)
E=I: ) EHERIR Fh B 70m®|70mQ)| #&5t| 10| X "5

26|)I14s 5% R/ R (RS 281 | 284 565| 8| 1

27|ILH #EXEE  |FE EBERIARF 285 | 277 562 |10 2

28k & MR)NR |[#RFs757 272 | 273 545| 7| 1

29|\l FE= FE EBERRARF 257 | 285 542| 6| 0

30|18 =R |fHR/IE PRBFSEFK 263 | 278 541] 8] 3

31|1ABE ZT* FiE FRER) N |RZ 254 | 274 528| 4| 1

32|EAH =5 & BHAXF 239 | 260 49| 7| 1

33| B B FHR)R [RFSEFR 240 | 244 484| 5| 0

34|LH BE& )R [RBFSEFR 224 | 256| 480| 7| O

35|l &21E FE )7 —F1)-05] 230 [ 246 476| 5[ 2

36|51 EA & EERZEAF 220 | 247 467 | 2| 1

37|Fith mE FiE BERRAF 201 | 225 426| 4| 1

38|t It R R RS 212 180 392| 6| 1

39|E%F JLTR R R RS 154 O] 154 1| O |&¥FEiE
40|lLA BAK MR)R |[RFs757 0 0 0| 0| O|RE

41| Ea)ll mzr  |ReEl | BARTEAFRISHRFER 0 0 0| 0| OIRE




